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doc « Hdid,dname,dfamily,dsalary (doctors)

doc — HD1.did,D1.dname,D1.dfamily,D1.dsalary (GDl.dsalary<D2.dsalary (pp1(doc) X pp; (doc)))

D1 D2 Op1.dsalary<D2.dsalary (le(dOC) X Pp2 (doc)
dsalary | dfamily | dname | did dsalary | dfamily | dname | did D 1. . D . -
13000 "5 | ov [ 111 13000 "o [ ov [ 111 _ ds‘;‘g% dfam,"}?' d“i‘;’f L dse;lggg dfam'l)n' dm"?; %
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dsalary | dfamily | dname | did dsalary dfam’ll}; dna,mei did _ dsalary dfam,ll)bl dna,mci did — | dsalary dfam,ll); dname | did
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doctor (did, dname, dfamily, dphone, dcity, dstreet, dhouse, dspeciality, ddatestart, dsalary)
patient (pid, pname, pfamily, pbirthdate)

clinic (cid, ccity, caddress, cname)

treatment (tdate, did, pid, cid)




